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T : IR"-1R" : linear transformation
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T : IR"-IR" : linear transformation
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STEIR" / T() = %)

Def
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Kernel of T = nullspace of A

Def
.

T : IR"-IR" : invertible linear transformation

if A is the s
. m.r.

of T and A is invertible
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in 12
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smr. is [ii] => [0 : ] [*) = (%) i
.e. projection on X-axis
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.e. projection on y-axis
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Rotation counterclockwise through an angle O
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* Reflection in a line L
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* invertible linear transformation

Recall : every invertible matrix is a product of elementary matrices.

Recall : elementary row operation :

D Ri> Rj [..... ] [i] t reflection on X = Y

X-axis

# Ri -> tiRi [..., ] [ii] , [i] a reflection on

y-axis

a Ri + rRi
, no [0, ] [Vi)

. [ii] = expansion

& Ri -> Ri + vRj [i ..., ] [Y] .
[vi) = shear

* Ri + Ri
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reflection on X-axis

reflection on y-axis


